
��������������������������������
�����������������
����
��������������������	���	����������������

�����
���������������������������������
���������
��������
�������������
���������������

����������������������������
�������
���������������

����
������������������������������
�����
����
������������
�����������	�����������������������

��������������������
�������

�������������������������

REQUIRED TOOLS 

����������������������



PARTS LIST

4 - #6 x 1" Flat Countersink Screws

  

4 - #6 x 5/8" Flat Countersink Screws

40 - #6 x 1/2" Pan Head Screws
REQUIRED TOOLS 

IMPORTANT NOTES:
��������������������������������
������

���������������
��������������������	��
�	�����������������������������������������
���������
�������
���������������
��
��
�������������������������
�����

����������������
������	���������
�������������
��������������������

������������������
��������������
�������������������
������������

�����
�������������
���������������

1 Door Wall Cabinet

���������������

�
�
�
�
�
�
�
�
�
�

1 x Face Frame

1 x Back Panel

2 x End Panels 

2 x Fixed Shelf 

2 x Adjustable Shelves*
1 x Door 

8 x Tan RTA L-Brackets

8 x Tan RTA Connector Plates  

8 x Locking Shelf Supports*
2 x Hinges*
�����������������������������
�������
�����
�	������
��������������
��	�������
���
������
�	�������

�

�

�
�

�

� � �

� �

Bumpers

     

2 - #8 x 7/8" Pan Washer Head Screws



���������������������������������
�����
��
�����	����
��������
���
������������
�����	���������	�
��������������� ­������������������

�

�

�

�

�����
������

��
��
��

�
��������������������������
� �����
����	
����������	�

����������

�

��
��
���
����
��

     



��
��
��

�
��������������������������
� �����
����	
����������	�

����������

�����������������������������
�����
���
�������������
��������
���
������������
�����	���������	�
��������������� ­������������������

�

��

�

�

   

�

�����
������



�������������������������
���
����
�
	��
�	����
���������
���������
	��

�����
�
�	�
���������	


���������
���������
������������������������
�
����
���
�������������
����������
�������
������
������
������	���������	�
����������
������ ­������������������

���
���
������
����
����������������
���

���
���������
���
����������
���

��������
��������
���
����
�������������

�

�

�����
������
��
��
��

�

�

�

�
�

�

�

�

�

����������������������������
� �����
����	
����������	�

����������



�
�������������������
�����
������
�����
�����������
����������������������
������������
���	����
��
���������
���������������
������
���
���������
���
�����������
����������������
��

��������	����
��
�
���������������������
���
���	�
���
�������
���������
������
�������������
���
���
���������
������
���������������
����
��
�������������������������� ­�����������

�����
������

�

�

�

�

��
��
��

���������������������������
�

����������

�

�

 



�
�������������������
�����
����������
���
�����������
�����������������������������
�����������������������
�����������������
����������
������
��
�����������

�

�

�

�

�

��
��
��

������������

IMPORTANT NOTES:
��������������������������������
������

���������������
��������������������	��
�	�����������������������������������������
���������
�������
���������������
��
��
�������������������������
�����

����������������
������	���������
�������������
��������������������

������������������
��������������
�������������������
������������

�����
�������������
���������������

 

     



��

�

�

����������������������
��
��
������������������
�����������������

�������������������������
����������
������������������������������
�����
�������
����������������������
��
�
��������������������
���
��������
����������
������
��������
���
��������
���
���������
�������������������
����
������������������
����������������������
����������������

�����
������

��
��
���
����
��

������������

     

 



�����
����

���
���������
�����	�������
����
������
���	�
���
�������
���������
���
���
�������������
�������
���
���������
������
�������
�����������
����
������
������ ­���������������������������

��
��
�� ����������

��������������������������
�

�����
������

 



�
���
���������
���������������������
����������������
������
�������
��
������������������������������
������
�������
��
������������������

�
�����
������

��
��
�
� ����������

��������������	����������
�



�

�
�

�
�

�

�����
����������������������
���������������������
�����
�������
�������
�
�����������������

����������­�������������
�����������
��������
�
������������

��
��
�� ����������

��- �
���������������	�

�



����������­�����������������������
������ �
� ������������

�����
��������
���������������������������
����
�����
��
�������������
�����­���������
����
��������������� �����
�
���
������
�
������������

��

�

��
��
��� ����������

����������������	����������
����

�����
������



�����
������

��
��
��� ����������

�

�������������
��
������������������
�����
�­�������� ������������������������������
���
�����­���������
�����

��

������
�
����

������
�
����


 ���������������� ������
� ���������
�



���
��

�
�
	�������
��


